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PRACTICESET -6

In the following questions, there are two sentences are

\/

given below with four words highlighted which may or

___/\,-_/_\_—/\,_\

may not be arranged meaningtully. So yoﬁ have to

1dentify the proper sequence of words between two

sentences to make given sentences meaningfully correct.

—

—



PRACTICESET -6 4 N,

IBPS

/ Two days after Chandrayaan-3 landed on the Moon, the Indian

Space Research Orgamsatlor_i (ISRO i)released ) Friday the first
'._/_\/\A . N ~—
\/Vldeo OW) on the lunar surface.
II.In a

n update later, the space agency(confirmed (C) that the rover

_
/

had covered a distance of 8 metres on the lunar surface and the two

science experiments 1t was carrying (D) had also been switched on.

1. A-C
2. B-D
3. Both A-C and B-D

. B-C
5. No replacement re@




PRACTICESHT -6 W

I. The decennial Census exermse that was to be conducted in 2021 was

@ @ 1ndeﬁn1tely, 1n1t1a11y (B) due to the COVID19 pandemic.

~TI. The office of the Reglstrar General of India i1ssued an order last week,

stating (C) the date of freezing of boundaries for the ensuing Census has
@Ee@@(D) and will now be with effect from January 1, 2024.

M
<1 Only A-D

2. Only B-C
3. Both A-D and B-C
4. Only B-D

5. No replacement required



il L

. With the bOleS.A) beyond recognition, authorities have ordered
(B0 conduct DNA tests to ascertain the 1dent1ty of the victims.

Vim VR
O I Chlef Minister Eknath Shinde and his deputy Devendra Fadnavis
C) a probe into the accident and announced an ex gratia of Rs.
5 lakh to the next 0 D) of each victim.
\J
%M guw\ Only A-D
2. Only B\

V@Da@ @wy“‘k

4. Only B-D

5. No replacement required




PRACTICESET -6 %

In the sentence given below two blanks are there
. —— < —
followed by five words to fill the blank to complete the

sentence meaningfully correct. You have to choose the

correct pair of words to complete the sentence.



PRACTICESHT -6 iF
The word of Jauf®omes a day after the Delhi Metro Rail &

Corporation (DMRC) announcement Wommuters to
1N Lo two sealed bottles of liquor on 1ts network.

B) prohibiting
C) forbidding

.
D) instruction

E 1tt1
B ) permitting
1. D-B

@
3. A-B

4. A-C
5. D-E

—




PRACTICESET -6 ) ]
A man has been arrested and a minor ( C ™ for “eesr

n_—" N —— ,Q\,\_\/

allegedly dropping a - head of a buffalo near a
placeof worship in northeast Delhi’s Welcome area.

@' R4 moved A 4500{27 ?aﬂ\

) seized 5‘0\(/& M
apprehended vvres |

E) severed

1. D-E
2. C-A
3. A-B
4. A-

5. C-E




y

PRACTICESET -6 iF
. TBPS

The Delhi Traffic Police on Monday ) sw4an @r ~

the upcoming Kanwar Yatra, which will begin on Tuesday

and on Jul .
A) cul ingtte‘\:/’\/yld/jtww x ‘j /SW\.L,U/UM

e —

D) announce
E) released

1. D-A
2. B-C
4. A-C
5. D-C



PRACTICESET -6 i
In a dramatic finale to pohtlcal - 8PS

that had gone on for months,

—

Nationalist Congress Party (NCP) leader Ajit Pawar has away from

his uncle and NCP patriarch, Sharad Pawar, to finally join hands with the
—Bharatiya Janata Party (BJP) in Maharashtra.

A) alliances

~ Complr
\&%) Intrigues —

D)) sphntered

E) entanglements
1. A-D
2. C-B
3. A-B

4. E-%/



PRACTICESET -6 %

L @é@he idea of greedflation argue that corporate profit margBPS

have risen significantly since the pandemic even though the larger

economy has and that this has contributed to high inflation.
A) opponents
B) thrived —

m

%g@\
E) flourished —
1. A-D

2. C-B

3. A-B

4. E-D




PRACTICESET -6 %

In each of the following questions a sentence has been

divided into five parts which may or may not be properly
I

arranged. You are required to rearrange these parts in

/I—_h- .
order to form a meaningful and coherent sentence.

T
" St

R



PRACTICESET -6 iﬂ
Home Minister Amit Shah made an appeal (A)/ to shun

violence and enter into a dialogue with each other and

@ o both the Me1tel and KukTZro communities in
Mamp@ of effectlng demographic changes in the
D State (D)/ w1th the Union government, which he said
— —

/ had no 1ntent1\ons/(E) \/

1T—ABCDE




PRACTICESET -6 /\ W

ﬁngres& leader Rahul Gandhi said 1n a blistering
attack (A)/ the politics of the Bharatiya Janata Party
(B£) (B)/@zgecond day of the no-confidence
debate 1n the LokSabha on Wednesday (C) / has
destroyed the spir;t of ‘Bharat Mata’ (‘Mother India’)
:n/hianipgr, (%@i government ().




PRACTICESET -6 /\ W

\Mamid incessant rains in Gaurikund, (A)/
w hut they were sleeping (B)/ two siblings were
kil

P

led and a third got inju o (¢ ’@: as hit by a

landslide i ear 4@” )/ the base camp of
rSs——

Kedarnath Yatra (E).
\/
—1—ABCDE-
2—ABDEC-




PRACTICESET -6 _ -
o Ao S L]

1llef
\/%?e Odisha police have arrested 21 people (A)/ in one of the
biggest ever actions agains gm (B)/ illegal
T > e — _

arms — including (C)/ three pistols, and two small hand guns —
in and (D)@siggle—barrel muzzle loaders (SBMLs), (E)/

around the Similipal Tiger Reserve over the past month(F).

am—

B

2—BAECDF—
\_£Z5= BACEDF )

4—ABFP &

3. ABCDEF
DB




PRACTICESET -6 ]

\\/mcording to an interim report on Asian Elephant
’ Population (A)/ the number of elephants in Karnataka

has 1ncreased% 34 3@/ vhich 19 the highest in the

country, (C fro estimat 049 in 201Dto 6,395

now, D)/ and Demography Estlmates 2023 (E). o\ S
A A

@

BPS



PRACTICESET -6 O W

In each of the following questions, a sentence has been

divided into five parts out of which one part 1s erroneous.

You are required to choose the option which 1s

grammatically or contextually incorrect.



PRACTICESET -6 i

- 1BPS

W 4 4’73 Aryan also set a meet (A)/ record in the 800m freestyle

/303 ) 0(( (B)/ ev@reakingfé)/ ‘the National record (D)/

— in the 400m freestyle event (E).
?’\x&?fd‘ %04
A

1.
’@M)‘(/U/SE 2. B
i cddihan 1O
E

/

5.



PRACTICESET -6 iF
\Qts//

The rudimentary bunkers, varying from (A)/ sandbags to
tin boards, were set up by members of the (B)/ Kuki and

Meitei communities in areas (C)/ where settlements of the

Mre adjacent to @ot?erﬁ).

7

1. A . 8\
2. B W

3. C me

4. D



PRACTICESET -6 iF
- BPS

The team 1s working hard (A)/ to ensure that (B‘#@:ir

project meets (C)/ the deadline and (D)o ed

successfully (E).

ﬁy W

wl\)[—k
QO W >

¥



PRACTICESET -6 i
gl N

"\)@ The company's sticcess (A)/ can be attributed to
(N> {theip(B)/ innovative products, strong leadership,

X
/i(,\it E W Ql (C)/ and the ability to adapt quickly (D)/ to

>&changing market trends (E).

3.
4,
5.

o O O\ >



_——FRICTICESET -6 N N,

!;) ( \ /,///

Aadmi Party (AAP) (B)/ and the BJP over the removal of
(C)/ a grille from a temple during (D)/ an anti-

encroachment drive in east Delhi (E).
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